E3 W 9 HIIXE)
E9F Y=g Al pyZel8A(1XE)
o= A X I8 =M =3 Jld3 =3 Jds
= = = =& = N = X =& = X =& =

1. A el2H| 171,405,787 98,216,375 - 73,189,412 - 171,405,787 1100.00%
Oh) &3=0l2id] 137,124,630 78,573,100 - 58,551,530 - 137,124,630 [100.00%
2 190,865 260 49,624,900 28,820,615 109 20,804,285 260 49,624,900 |100.00%

& 147,327 - - -
2 115,435 758 87,499,730 49,752,485 327 37,747,245 758 87,499,730 |100.00%
Lt) bl &= o124 | Al 1 34,281,157 19,643,275 1 14,637,882 1 34,281,157 [100.00%
2. d & Hl A 1 111,413,761 63,840,643 1 47,573,118 1 111,413,761 [100.00%
3 = = AU+ HAB-0.124] A 1 34,917,674 20,042,404 1 14,875,270 1 34,917,674 [100.00%
4. AE 34 78,811,566 45,179,777 - 33,631,789 - 78,811,566 |100.00%
= M oHl Al 1 41,137,389 23,571,930 1 17,565,459 1 41,137,389 1100.00%
L& & d A 1 3,428,115 1,964,327 1 1,463,788 1 3,428,115 [100.00%
Ch) XX s Xl z 701,601 10.40 7,296,650 4,237,670 4.36 3,058,980 10.40 7,296,650 1100.00%
ch) R XJA xR E 647,846 10.40 6,737,598 3,912,989 4.36 2,824,609 10.40 6,737,598 [100.00%
OF) 88Xl A2 = 1,651,136 10.40 17,171,814 9,972,861 4.36 7,198,953 10.40 17,171,814 1100.00%
Bh) &= A e14tl 3,040,000 1,520,000 - 1,520,000 - 3,040,000 [100.00%
760,000 4 3,040,000 1,520,000 2 1,520,000 4 3,040,000 |100.00%

2,200,000 - - - - - - -
760,000 - - - - - - -

AAH(1+2+3+4) 396,548,788 227,279,199 - 169,269,589 - 396,548,788 [100.00%
5. 2B S(E/S) 240,699,090 146,071,411 - 94,627,679 - 240,699,090 |100.00%
H23l EJHHS(E/S) 26,520,000 15,100,000 - 11,420,000 - 26,520,000 |100.00%
HI33l EJHHS(E/S) 55,920,000 31,840,000 - 24,080,000 - 55,920,000 [100.00%
M43 EJHHS(E/S) 29,400,000 16,740,000 - 12,660,000 - 29,400,000 |100.00%
M58 E0HHS(E/S) 28,260,000 16,090,000 - 12,170,000 - 28,260,000 [100.00%
H63 EJHHS(E/S) 23,020,000 13,100,000 - 9,920,000 - 23,020,000 |100.00%
H73 E0HHS(E/S) 18,740,000 10,670,000 - 8,070,000 - 18,740,000 ]100.00%
H8al EJHHS(E/S) 24,230,000 13,790,000 - 10,440,000 - 24,230,000 |100.00%
HI93l EJHHS(E/S) 16,709,090 10,851,411 - 5,857,679 - 16,709,090 |100.00%
X108 SJHHS(E/S) 5,990,000 5,990,000 - - - 5,990,000 |100.00%
H1138 2t =(E/S) 11,910,000 11,900,000 - 10,000 - 11,910,000 ]100.00%
6. S=IHM(1+2+3+4+5) 637,247,878 373,350,610 - 263,897,268 - 637,247,878 |100.00%
7. SILXIA 63,724,787 37,335,061 - 26,389,726 - 63,724,787 1100.00%
8. el EHEoH 2 4HI 5,027,335 5,014,329 - 13,006 - 5,027,335 |100.00%
s A 706,000,000 415,700,000 - 290,300,000 - 706,000,000 [100.00%




